Bearing

i >

Minimizing the unit size
(dimensions) and combination
with other guides is possible.

Reum|

=
>
S
8
@
%)



Before Operating Series MY1B

Maximum Allowable Moment/Maximum Allowable Load

Model Bore size Max. allowable moment (NImh) Max. allowable load (kg)
(mm) M M2 Ms mi m2 ma
10 0.8 0.1 0.3 5.0 1.0 0.5
16 2.5 0.3 0.8 15 3.0 1.7
20 5.0 0.6 15 21 4.2 3.0
25 10 1.2 3.0 29 5.8 5.4
MY1B 32 20 2.4 6.0 40 8.0 8.8
40 40 4.8 12 53 10.6 14
50 78 9.3 23 70 14 20
63 160 19 48 83 16.6 29
80 315 37 95 120 24 42
100 615 73 184 150 30 60

The above values are the maximum allowable values for moment and load weight. Refer to each graph regarding the
maximum allowable moment and maximum allowable load for a particular piston speed.

Design precautions

We recommend installing an external shock absorber when the cylinder is combined with another guide
(connection with floating bracket, etc.) and the maximum allowable load is exceeded, or when the
operating speed is 1000 to 1500mm/s for bore sizes 916, 850, 863, 880 and 2100.

Load (kg)

Moment (Nh) ma ma
F1 -\M1=F1xL1 F2 = — M2=Fzx L2 Fa< o Ms=Fsx Ls
- - 3
N — T ]

<Calculation of guide load factor>
1. Maximum allowable load (1), static moment (2), and dynamic moment (at the time of impact with
stopper) (3) must be examined for the selection calculations.
OTo evaluate, use Ua (average speed) for (1) and (2), and U (impact speed U = 1.4Ua) for (3).

Calculate m max for (1) from the maximum allowable load graph (m1, mz, ms) and Mmax for (2) and (3) from the
maximum allowable moment graph (M1, M2, Ma).

Load mass [m] Static moment [M] N %)

Sum of guide S0l =

Dynamic moment [ME] &2 <
load factors -

Maximum allowable load [nmax] ~ Allowable static moment [Mmax]  Allowable dynamic moment [MEmax]

Note 1) Moment caused by the load, etc., with cylinder in resting condition.

Note 2) Moment caused by the impact load equivalent at the stroke end (at the time of impact with stopper).

Note 3) Depending on the shape of the work piece, multiple moments may occur. When this happens, the sum of the load

factors (Z0) is the total of all such moments.

2. Reference formulae [Dynamic moment at impact]
Use the following formulae to calculate dynamic moment when taking stopper impact into
consideration.
m : Load mass (kg)
F :Load (N)
Fe : Load equivalent to impact (at impact with stopper) (N) Me: Dynamic moment (N(h)
Ua: Average speed (mm/s) g : Gravitational acceleration (9.8m/s?)
M : Static moment (N[h)

U : Impact speed (mm/s)

L1 : Distance to the load's center of gravity (m)

U
Note 4) .
U = 1.4Da (mm/s) FE=i al n
100 E Fe
1 Note 5) —

OMEe = 35 (Fe [L1=0.05Va m L1 (Nirh) - Me
=] ]
| —

Note 4) % Ua is a dimensionless coefficient for calculating impact force. / o

Note 5) Average load coefficient (= %):

This coefficient is for averaging the maximum load moment at
the time of stopper impact according to service life calculations.

3. Refer to pages 4 and 5 for detailed selection procedures.

2

Maximum allowable moment

Select the moment from within the range of
operating limits shown in the graphs. Note
that the maximum allowable load value may
sometimes be exceeded even within the
operating limits shown in the graphs.
Therefore, also check the allowable load for
the selected conditions.

Maximum allowable load

Select the load from within the range of
limits shown in the graphs. Note that the
maximum allowable moment value may
sometimes be exceeded even within the
operating limits shown in the graphs.
Therefore, also check the allowable
moment for the selected conditions.



Mechanically Jointed Rodless Cylinder H
Basic Type Se”es MYlB

MY1B/M+ MY 1B/M:2 MY1B/Ms
200
O N\
00 ] N
300 \ - X E\\ \\‘
200 AN N NS
N N 20 N < AN N
N N \ \\ ‘518 N N
100 S NEEAAN NN 20 NENN o
WY1B100 10 MY1B100 NN Nwvigioo —
AN AN AN N N N >~
50 \\ N \\ —— AN = N . ~ 20 AN N \ E
2 § MBS0 5 SN Swviseo NN Nwvisso "
N 10
20 NN, 863 3 SN = NN 5
N N N MY1B63 NMYIB63 T
5 NN £ 2 <CONOT g s - >
= 10 MY1B56 = NERN = 4 <
£ N NEREN g N PN MY4BSO 5 3 MY1B50
S 5 NMY1B40. o = NS o \\
= 4 1 = ~ MYARZ0 z 2 N
3 N N 05 Y - NI MY1B40
N NG| YMyiB32 0.4 \\ 1 N
2 N 0.3 MY:LB32 ~ N
N ™ ' N =i SRR MY1B32-
Y MY1B25 0.2 N 3
1 N MY1B25 o Y
~ ~NMY1B20 NG 0.4 N MY1B25 1
05 N D 0.1 \\ 0.3 \\
0.4 < N MY1B20 02 A _
03 < MY1B16 0.05 N : q MY1B20
N .
0.2 0.04 MYiB16 \ \uv R1G
\MYlE 10 0.03 \\ 0.1 MY-LB16
0.1 0.02 MIMY1B10 0.06 “NOMY1B10
100 200 300400500 1000 1500 100 200 300400500 1000 1500 100 200 300400500 1000 1500
Piston speed mm/s Piston speed mm/s Piston speed mm/s
MY1B/m1 MY1B/m:2 MY1B/ms
200 30
50
20 40
100 N N 30 N\
N NN N
AN AN N\ 20
\\ 10 AN \\\ N \\ N
50 AN ANIAN X N\
NNE ANEI\NAY NN
40 N N\ N, 10 N, \
NN N SBRN N NI\
NCNN NN N AN LA .
30 O\ \\ 5 NONNCRNTR < NG MY1B100
N 4 NCRN MYB106- N .
2 \\ \\\\ wiso| | \\\ § N\ N whasg s NN \\ MY1B80
= \\ NN Ymvaeso [ | \\ NN \\ < 4 NCTN MY1B63
N 5 AN I NN
E . \ A \\ MY1B63 £ \\\\ \\ MY1B50 g NN \ MY1B50
° AN ANE 9 o
g NOYINIROS 850 | & NN \\ wvisdo| | E 2 AN YMYi840
™ \\ AN MY:LB40 1 \\ NN MY1B32 \ N \
N Nwvies N PNCN . N mvis32
5 N AN NS TMY1B25 1 AN AN
NN - N NP
N X \ MY1B25 05 YMY1B20 NEEA MY1B25
N\ )
3 N 04 WIS g.i N MY1B20
B N
2 MY:1B16 0.3 N \\ N
N \\ 0.3 N \
\\ 0.2 MY1B10 02 MY1B16
1 MY1B10 \\
01 01 N MY1B10
100 200 300400500 1000 1500 100 200 300400500 1000 1500 100 200 300400500 1000 1500
Piston speed mm/s Piston speed mm/s Piston speed mm/s




Series MY 1B

Model Selection

The following are steps for selection of the series MY1 best suited to your application.

Calculation of Guide Load Factor

Operating conditions

Cylinder ....coooviiiiiiiieeees MY1B32-500
Average operating speed Ua ...... 300mm/s
Mounting orientation ................. Horizontal mounting

W: Work piece (2kg)

MY1B32-500

[2] Load blocking

P. 58

3. Ceiling mounting

4. Vertical mounting

Q‘ P. 80 @

P. 42

Refer to the pages above for actual examples of
calculation for each orientation.

50

30

Calculation of load factor for static load

Work piece mass and center of gravity

Center of gravi
Work piece| Mass ey
no. m X-axis Y-axis Z-axis
W 2kg 20mm 30mm 50mm

m1. Mass
m1 max (from 1 of graph MY1B/m1 = 27 (kg)
Load factor 01 = m+/m1 max = 2/27 = 0.07

Mi: Moment
M1 max (from 2 of graph MY1B/M1) = 13 (NIh)
Mi=miXxgxX=2x9.8x20x 107 =0.39 (NIh)
Load factor Oz = M+/M1 max = 0.39/13 = 0.03

M2: Moment

Mz max (from 3 of graph MY1B/Mz) = 1.6 (NI) ............

Ms=mixgxY=2x9.8x30x 10 =0.59 (Nh)
Load factor Oz = M2/M2 max = 0.59/1.6 = 0.37




Mechanically Jointed Rodless Cylinder H
Basic Type Se”es MYlB

[4]Calculation of load factor for dynamic moment

[5]Sum and examination of guide load factors

Equivalent load FE at impact

FE:%XUaxgxm:%x300x9.8x2:82.3(N) -

M1E: Moment N
Mg max (from 4 of graph MY1B/M1 where 1.40a = 420mm/s) = 9.5 (NIh) %
M1E:%xFExZ:%x82.3x50x10'3:1.37(N|I‘n) %
Load factor 04 = M1E/M1E max = 1.37/9.5=0.14

MsE: Moment

Msg max (from 5 of graph MY1B/Ms where 1.40a = 420mm/s) = 2.9 (NI) ..................

MsE:%xFEXY:%X82.3X3OX10'3:0.82 (Nh)

Load factor Os = Mse/Mse max = 0.82/2.9 = 0.28

20 =01+02+0s+ 04+ 0s5=0.89<1

The above calculation is within the allowable value and the selected model can be used.

Select a separate shock absorber.

In an actual calculation, when the sum of guide load factors Za in the formula above is more than 1, consider decreas-
ing the speed, increasing the bore size, or changing the product series. Also, this calculation can be performed easily
with the "P/A Pneumatics CAD System".

Load mass Allowable moment
MY1B/m MY1B/M1 MY1B/M2 MY1B/Ms
200 e ~ 200
50
‘3‘88 20 N 100 N
100 - 30 N NN
X 200
R NU TN 20 N \\ 50 N
N N N \\ N 0 N
ANN 100 = N, [N 30 N
50 R S MYABT004 10 = b MY1B1004 N \\ Nwyis100
40 NAN \\ 50 N ~ I AN N N 20 ~
30 1N 40 ] 180 5 ANSIEA X MY1B807 NN MY1B80
— =y \\ N 30 N ! 2 N N N I
N A 20 PN - 3 N N 10 S ==
- 20 NN \. 1¥1B100- 2 NI )\\ A N Wvie63 R p—
3 \\\\\ MY1B80 E |- 4 E 2 > 3 J | £ J |
4 = 10 e MY1B504 - =T N 4
£ \\\\ \\ MY‘1B63 5 1 5 }F\ N Ymisso E . (5N MY1B50
g 10 NN N MY1B50: £ A N £ 1 2 - § ‘
g AN N S s " ~IMY1B40 g SN 2 N
= N N 1 = 1 =3 N —— s 2 !
\ NN U840 4 T \ i Ny e
NNy 3 NSO NMviB32 98 |k ™
5 MY1B32 N I 04 N 1 N
UNN\ 2 HINN \ 03 AR ~t = T
4 X MY1B25 N N MY1B25 N N
3 ‘ 1 i N | 02 TN 0.5 h -~
N NWVIEZ0 : = N[N e 0.4 MY1B25-
| N MY1B20 N | N |
2 MY1B16 05 I ; 0.1 = SEieSome— 03 AN i
AN MYLB? MV-1R:
N 04 NTIETR ] 02 i ([ TMvaB201
N 03 N 0.05 } l\ \
. N ol 02 s 4 0.04 Y816 o1 ) -
MY IS I MY1B10 0.03 ™ : T S }
0.1 I 0.02 NJUMY1B10 0.06 I MY1B101—]
100 200 300400500 1000 1500 100 200 300400500 1000 1500 100 200 300400500 1000 1500 100 200 300400500 1000 1500
Piston speed mm/s Piston speed mm/s Piston speed mm/s Piston speed mm/s




Mechanically Jointed Rodless Cylinder

Series MY 1B

How to Order

Basic Type/g10, 916, 820, 825, 832, 40, 850, 963, 880, 8100

@)

SES Y MY1B

25

300

Z73

Basic type
Bore sizee——
10 10mm Piping
;g ;gmm Nil Standard type ‘
mm - —
G | Centralized pipin e
25 25mm Note) F 10, onl gp gtyF')I LI
32 32mm oe) or g10, only G Is availapble.
40 40mm
50 50mm
63 63mm
80 80mm
100 | 100mm

Stroke adjusting unit ¢——

Only the A unit is available for g16. Stroke adjusting unit is not
available for #50, 963, ¢80 and 2100. Refer to page 9 for
detailed information on stroke adjusting unit specifications.

Stroke ¢

Refer to the standard
stroke table on page 7.

Nil 2 pcs.
S 1 pc.
n "n" pcs.

Auto switch type

[ il

[ Without auto switch ]

ORefer to the table below for auto

switch model numbers.

o Stroke adjusting unit No©)

Nil

Both ends

S

One

end

Note) "S" is applicable for stroke adjusting units A, L and H.

Applicable auto switches/

For 210, 916, 220

lNumber of auto switches

Refer to pages 91 through 103 for detailed auto
switch specifications.

=) Auto switch models |Lead wire length (m)
. A= - Load voltage i
NIl Without adjusting unit <§ Speglal Electrical 5 Wiring Electrical entry direction| 05 | 3 | 5 Applicable
2 |function| entry | .8 |(output) - i load
A With adjusting bolt 2 DC | AC [pemendicular| In-line | (Nil) | (L) (@)
i + adiusti = 5V |100V IC

L W|th Igw load shock absorber ad]gstl_ng bolt g No . Lvlorless| A90V | A0 ® | — |circuit Relay

H With high load shock absorber + adjusting bolt s ] 2wire (24V pLC.
AL With one A unit and one L unit each g —  |Crommet Ves _ 12V]100v] A93V | AG3 hd —

AH With one A unit and one H unit each & (NBPNMégjv.) — | sv| — | A9BV A96 [ o — cirlguit —
With one L unit and one H unit each i
LH e FONV. [FON | @ | @
Shock absorbers for L and H units S| — ?P“i{;; FOPV | Fop o |o| —
B 10 20 25 32 40 ?, i
Unit no, o - 2 wire AOANIGEN ¢ | °| — Relay,
= Grommet |Yes Iwire 24V|12V| — — PLC
L unit — RB0806 | RB1007 RB1412 B |y (NPN) FONWV [FONW | ® | @ | O
kel
- 2 | i -
H unit RB0805 RB1007 | RB1412 RB2015 S indication Sp\m;e FoPWV | Fopw ° el o
(2 color ( )
indiato) 2 wire FOBWV |FOBW | ® | ® | O
ptions OLead wire length symbols: 0.5m............... Nil (Example) FONW
Stroke adjusting unit numbers 3m... ~L FONWL
i 5m... 4 FONWZ
Bore size [ Solid state switches marked witl symbol are produced upon receipt of order.
) mm) 10 16 20 25 32
Unit no. For @25, 832, 940, 850, 963, 80, 2100
Aunit _|MY-A10A|MY-AL6A | MY-A20A| MY-A25A | MY-A32A T TE] T Loadvoliage Ao swich models[Lead vire engh (m)]
L um.t — — MY-A20L [MY-A25L |MY-A32L S fi‘r)]x?rln FI:FJ{:;RI =) (\gﬂg:% Electrical entry direction] 05 | 3 | 5 | Applicable
Hunit  |[MY-A10H| —  |MY-A20H|MY-A25H |MY-A32H = DC | AC [perpendcula] n-line | (NID | (L) | (@) load
Bore size 3 wire IC
_ (mm)| 40 S (NPNequv)) — | BV | — — |Z76 ® | & — leircuit| —
Unit no. = Grommet|Y €S
Aunit |MY-A40A = — . lavjoov | — 773 ® O 0 — oy,
Lunit |MY-AdOL 5 N e e BV T IC_|PLC
- @ 0 12V |or less 280 d ® | — lcircuit
Hunit  [MY-A40H 3 wire
(NPN) 5v Y69A | Y59A ® ® O ¢
Side support numbers < i ircui
bp gl - et yipv |yp | e | e | o [
Bore size B
[0 .

Type mm| 10 16 20 25 32 s - 2 wire » 12v Y698 |Y59B | ® | @ [O | — |relay,
Side support A | MY-S10A | MY-S16A | MY-S20A MY-S25A  ignosic %Nvgll{l‘)a N voiowv[yw| o o [0 o PLC
Side support B |MY-S10B | MY-S16B |MY-S20B MY-S25B 5 indication 3wire 12V circuit

o @ | 2 color (PNP) Y7PWV |[Y7PW| ® | @ | O
indicator |

Type M| 40 =L = el ey ) 2wire|  |12v Y7BWV |Y7BW| ® | @ | O | —
Side support A MY-S32A MY-S50A MY-S63A [Lead wire length symbols: 0.5m ............... Nil (Example) Y59A

" 3m.... L Y59AL
Side support B MY-S32B MY-S50B MY-S63B 5m TS Y59A7
Refer to page 17 for detailed information on dimensions, etc. M Solid state switches marked with a "O" symbol are produced upon receipt of order.




Mechanically Jointed Rodless Cylinder

Specifications

Basic Type

Series MY'1B

r -
- Bore size (mm) 10 |16 | 20 | 25 [ 32 [ 40 [ 50 | 63 | 80 | 100
L Fluid Air
4 Action Double acting
1 "r-ﬂ . 0.2
B - Operating pressure range | o o'éMpa‘ 0.1 to 0.8MPa
M -
i - "!'-q Proof pressure 1.2MPa
‘mfﬁ""’ S Ambient and fluid temperature 5to 60°C
;I‘ = . Cushion Bitner ‘ Air cushion
- - Symbol Lubricaton Non-lube
T 1000 or less*}® 418 128
@ Stroke length tolerance |1001 1o 30003 2700 or less";", 2701 to 5000"G
& | Front/side ports M5 x 0.8 Rc 1/8 Rc 1/4 Rc 3/8 Rc1/2
Ma . . %)
= Bottom ports
Order made specifications S | . (centralized 24 25 26 28 | 910 | @11 | @16 |@18
Q| piping type only)
Refer to page 105 regarding order made
specifications for series MY1B.
Stroke adjusting unit specificatons
Bore size (mm) 10 16 20 25 32 40
Unit symbol A H A A L H A L H A L H A L H
RB RB RB RB RB RB RB RB RB
. . with | 0805 | i | With | 0806 | 1007 | with | 1007 | 1412 | With | 1412 | 2015 | With | 1412 | 2015
Configuration and A + o L + + o T ¥ e + + A + S
shock absorber adjusting| with |adjusting |adjusting| with with  [adjusting|  ith with |adjusting|  with with  [adjusting|  with With
bolt |adjusting| bolt bolt |adjusting |adjusting | polt |adjusting | adjusting| polt |adjusting |adjusting| polt | adjusting [adjusting
bolt bolt bolt bolt bolt bolt bolt bolt bolt
Stroke fine adjusting range (mm) Oto-5 0to -5.6 Oto-6 Oto-11.5 Oto-12 Oto-16
Stroke adjusting range| When exceeding the stroke fine adjusting range: Use order made specifications "-X416" and"-X417". (Refer to page105 for details.)

Shock absorber specifications

Piston speed

Model RB RB RB RB RB Bore size (mm) 10 16 to 100
0805 | 0806 | 1007 | 1412 | 2015 Without stroke adjusting unit | 100 to 500mm/s | 100 to 1000mm/s
Max. energy absorption (J)| 1.0 2.9 5.9 19.6 58.8 Stroke A unit 100 to 200mm/s | 100 to 1000mmy/s Nete 1)
Stroke absorption (mm) | 5 6 7 12 15 adjusting Unit [, it ang H unit| 100 to 1000mm/s | 100 to 1500mmis Noe2
Max. impact speed (mm/s)| 1000 1500 1500 1500 1500 Note 1) Be aware that when the stroke adjusting range is increased by manipulating the
- - adjusting bolt, the air cushion capacity decreases. Also, when exceeding the air
Max. operating frequency (cyclesimin) 80 80 70 45 25 cushion stroke ranges on page 9, the piston speed should be 100 to 200mm
Spring Extended 1.96 1.96 4.22 6.86 8.34 per second.
force (N) Compressed 283 4.92 6.86 15.98 20.50 Note 2) For centralized p|p|n_g, the piston §peed is 1_00 to 1000mm per second.
- Note 3) Use at a speed within the absorption capacity range. Refer to page 8.
Operating temperature range (°C) 510 60
Theoretical output unit N Standard strokes
Bore |[Piston Operating pressure (MPa) ;
size | area Bore size Standard stroke (mm)J Max. manufacturable stroke
(mm) |(mma)| 0.2| 0.3| 0.4| 0.5| 0.6/ 0.7| 0.8 (mm) (mm)
10 78| 15| 23| 31| 39| 46| 54| 62 10 and16 100, 200, 300, 400, 500, 600, 700 3000
16 | 200 40| 60| 80| 100| 120| 140| 160 20. 25. 32, 40 800, 900, 1000, 1200, 1400, 1600
62 an 1800, 2000 5000
20 | 314| 62| 94| 125 157| 188| 219| 251 50, 63, 80, 100 '
25 490| 98| 147| 196| 245| 294| 343| 392 OStrokes are manufacturable in Imm increments, up to the maximum stroke. However, when exceeding a 2000mm
stroke, specify "-XB11" at the end of the model number. Refer to the order made specifications on page 105.
32 | 804| 161| 241| 322| 402| 483| 563| 643
40 |1256| 251| 377| 502| 628| 754| 879|1005| \Weights Unit: kg
50 |1962| 392| 588| 784| 981|1177|1373|1569 J—— Side support Stroke adjusting unit weight
. itional i .
63 |3115| 623| 934|1246|1557| 1869 | 2180|2492 Boresize |Basic | "\ i weight (per set) (per unit
80 | 5024|1004 1507 2009 | 2512|3014 3516|4019 (mm) | weight| per 5omm Type A and B A unit L unit H unit
100 | 7850|1570 | 2355 | 3140 | 3925 | 4710| 5495 | 6280 BISHES
NoA 0.102KaT IMPA= A P 10 0.15 0.04 0.003 0.01 — 0.02
= Approx. 0. of, a = Approx.10.2kgf/cm
Note) Theoretical output (N) = Pressure (MPa) x Piston 16 061 0.06 0.01 0.04 - -
area (mm?) 20 1.06 0.10 0.02 0.05 0.05 0.10
25 1.33 0.12 0.02 0.06 0.10 0.18
Calculation method 32 2.65 0.18 0.02 0.12 0.21 0.40
Example: MY1B25-300A 40 387| 027 0.04 0.23 0.32 0.49
BasSiC WeIght .........covveereiieeeieieeeins 1.33kg 50 7.78 0.44 0.04 — — —
Cylinder stroke .. .... 300mm 63 13.10 0.70 0.08 _ _ _
Additional weight...............oooeeiiiiiiiins 0.12/50mm stroke - - -
1.33 +0.12 X 300 + 50 + 0.06 X 2 = Approx. 2.17kg 80 20.70 118 0.17 - _ —
Weight of Aunit .......cc.ooviiiiiiiiiiiiiis 0.06kg 100 35.70 197 0.17 — — -

Series MY1B



Series MY1B

Cushion Capacity

Cushion selection Absorption capacity of rubber bumper, air cushion and stroke adjusting units

<Rubber bumper>

I\R/Il¢libBe]TO bumpers are a standard feature on MY1B10 Horizontal impact: P = 0.5MPa MY1B32 Horizontal impact: P = 0.5MPa

- i i

Since the stroke absorption of rubber bumpers is iggg 2000 o ;

short, when adjusting the stroke with an A unit, ,, 1500 i g T

install an external shock absorber. © 1000 4. = i Uy

E “% T | g 1000 A o
<Air cushion> E 500 Rz =z TS sy 1 4
™ 0
Air cushions are a standard feature on mechani- o e § 500 L g
L. . 2 400 \é(/ 7 0 N

cally jointed rodless cylinders. (Except 10.) g 300 \:77,09, 5 400 e

The air cushion mechanism is installed to avoid £ oo ) g 300 i

excessive impact of the piston at the stroke end E N E 200 ::

during high speed operation. The air cushion N "

does not act to decelerate the piston near the lgg 100 o

stroke end. 005 01 0.2 030405 1 234510 1 2 3 45 10 20 30 40 50

The ranges of load and speed that air cushions ma max

can absorb are within the air cushion limit lines mamax. m2max. mimax. m2 max. T mimax.

shown in the graphs. Load weight kg Load weight kg

<Stroke adjusting unit with shock absorber>

Use this unit when operating with a load or speed

exceeding the air cushion limit line, or when MY1B16 Horizontal impact. P =0smPa MY 1B40 Horizontal impact: P = 0.5MPa

cushioning is necessary because the cylinder 1 1 1 b4 f

stroke is outside of the effective air cushion iggg | | | iggg T i

stroke range due to stroke adjustment. © i i i o N\ A

E 1000 — ' £ 1000 — i
A ~ | A E—

Lunit o £ ~A : E — H

Use this unit when cushioning is necessary out- B T 003,7/ J 3 1 4 1//},; —

side of the effective air cushion range even if the § 288 " . o ! % 200 = ,'4/4,—r|

load and speed are within the air cushion limit 3 200 i i N | 3 383 T 008/7/,7,_

line, or when the cylinder is operated in a load g ! ! g i

and speed range above the air cushion limit line = 200 : : = 200 =

and below the L unit limit line. ] ] b0

. 100 : : 100 : :

Hunit o _ 05 1 2 345 10 4 20 30 2 345 10} 20 50

Use this unit when the cylinder is operated in a T A T 1 A

load and speed range gbgve the L unit limit line msmax. Mz max. M1 max. M2 max. _t ma max. M1 max.

and below the H unit limit line. Load weight kg Load weight kg

C t MY1B 20 Horizontal impact: P = 0.5MPa MY1B 50 Horizontal impact: P = 0.5MPa
zls au |O N [k i T i
2000 — . 2000 — ;

1. Refer to the diagram below when using the @ 1500 \ N i » 1500 i i
adjusting bolt to perform stroke adjust- £ 1000 R ; € 1000 .
ment. E 7 E o L

- —T —T T
When the effective stroke of the shock absorb- 3 N N Ay 3 I N
) 2 500 = i @ 500 —
er decreases as a result of stroke adjustment, @ 400 —tr Ly & 400 —
the absorption capacity decreases dramatical- S 300 L ppy/gml S 300 —
. : L Qo [ Are,, ) g o
ly. Secure the adjusting bolt at the position £ 500 [ "3/7/;,} £ 200 [
where it protrudes approximately 0.5mm from N Vo
the shock absorber. 100 it Lo
1 2 345 10 20 30 40 50, 1002 3 5 10 20 30 50 100
Adjusting bolt — _T T_ + J f T
e m3 max. m2 max. m1i max. m2 max. m3 max. mi1max.
'u Load weight kg Load weight kg
05
I MY1B25 Horizontal impact: P = 0.5MPa MY1B63 Horizontal impact: P = 0.5MPa
1| 1] : 1 i
2000 y | . 2000 — ;
hock |
Shock absorber g 1500 — : /7’1,,”,' ©1500 : : :
N [
_ _ £ 1000 P £1000 Y 95t

2. Do not use a shock absorber and air cushion IS 4}c¥/ . T 0n +—

together. - %%, 3 5
8 500 i & 500 f !
& 400 ! 5 400 ——
5 300 : & 300 =
Q. 1| g 1 1
E 200 i 200 i I
i i i
1| 1 1|

100 1 2 3 4 SJ 10 20 30 40 50 1002 3 5 10 20 30 50 100
* B
m2, M3 max. m1max. m2 max. mzmax. mimax.

Load weight kg Load weight kg




Mechanically Jointed Rodless Cylinder

Series MY'1B

Basic Type

Stroke adjusting unit holding
bolt tightening torque

Unit: NI
MYlBSO Horizontal impact: P = 0.5MPa Bore size (mm) U:t Tightening torque
Il ! 10 0.3
2000 : : ‘ H
©1500 L 16 A 0.6
E 1000 | 4/'%/; A
- = on 20 L 15
& 500 et H
g 400 ; ; A
£ 300 —— 25 L 3.0
~ 200 S H
i i A
: : 32 L 5.0
1005 10 20 30 50 100 H
bt t A
mzmax. mamax. Mimax. 0 o 10
Load weight kg a
MY1B100 Horizontal impact: P = 0.5MPa StrOI.(e adJUSt!ng un!t lock plate
! ! ! holding bolt tightening torque uni: Nm
2000 T T T . - - -
1500 ! ! i ! Bore size (mm) Unit Tightening torque
Y 1 1 4 |
] ] ’(."(/s . 20 H 1.2
£1000 ‘ ‘ /7/0,,:: L 12
3 1 1 25 H 33
2 500 ; ;
£ 400 : ; 32 L 33
g 300 H 10
E | | L 33
200 } } 40 0 0
1005 10 20 310 50 1 100 : :
} 1 Calculation of absorption energy for stroke
mz max. mamax. mimax. adjusting unit with shock absorber unit: N
Load weight kg Horizontal | Vertical Vertical
(downward)| (upward)
Air cushion stroke Unit: mm
Bore size (mm) Cushion stroke ‘I_'ype &
impact
16 12
20 15
25 15
Ee 19 Kinetic
40 24 energy
50 30 Es
Thrust
63 37 energy Fs FS +mQs|FB8-mgs
E>
80 40 Absorbed
100 40 enelzzrgy E1+E2
Rubber bumper (210 only) Symbols

Positive stroke from one end due to pressure
1

0.9
0.8

0.7

0.6

0.5 ’/
e

0.3

0.2 /]

v
0.1 yd

O0 0.1 02 03 04 05 06 0.7 0.8

Pressure MPa

Displacement mm

U : Speed of impacting object (m/s)

m: Weight of impacting object (kg)

F : Cylinder thrust (N)

g : Gravitational acceleration (9.8m/s?)

S : Shock absorber stroke (m)

Note) The speed of the impacting object is measured at
the time of impact with the shock absorber.

ASpecific product
precautions

: Besureto read before handling.

» Refer to pages 107 through 114 for
: safety instructions and common
.

precautions.

/A Caution

Be careful not to get hands caught in the

unit.

* When using a product with stroke adjusting unit,
the space between the slide table (slider) and
the stroke adjusting unit becomes narrow, caus-
ing a danger of hands getting caught. Install a
protective cover to prevent direct contact with
the human body.

Adjusting bolt lock nut Unit holding bolt

Lock plate
holding bolt

<Fastening of unit>
The unit can be fastened by uniformly tightening
the four unit holding bolts.

/A Caution

Do not operate with the stroke adjusting unit
fixed in an intermediate position.

When the stroke adjusting unit is fixed in an
intermediate position, slippage can occur
depending on the amount of energy released at
the time of an impact. In this case, we
recommend using the adjusting bolt mounting
brackets available with order made specifications
-X 416 and -X 417. (Except 210.)

For other lengths, consult P/A. (Refer to "Stroke
adjustment unit holding bolt tightening torque™.)

<Stroke adjustment with adjusting bolt>
Loosen the adjusting bolt lock nut, and adjust the
stroke from the lock plate side using a hexagon
wrench. Re-tighten the lock nut.

<Stroke adjustment with shock absorber>
Loosen the two lock plate holding bolts, turn the
shock absorber and adjust the stroke. Then,
uniformly tighten the lock plate holding bolts to
secure the shock absorber.

Take care not to over-tighten the holding bolts.
(Except 220 L unit.) (Refer to "Stroke adjusting
unit lock plate holding bolt tightening torque".)

Note)

Slight bending may occur in the lock plate due to
tightening of the lock plate holding bolts. This is
not a problem for the shock absorber and locking
function.

Series MY1B



Series MY 1B
||
Centralized Piping Type @10

[Refer to page 115 regarding centralized piping port variations.]

MY1B10G

.10 10 o
o oce
~ ~
Y Y
i ¥ ¢ i
L1 A
w 2-M5x0.8
(Hexagon socket head plug)
30 50 4-M3 x 0.5 depth 5 4-23.4 through hole
- Lot > 59 Bottom side M4 x 0.7 depth 7
59 25 . -
"
il 8 Ty
Q) ) Pt i A
g © o~ B _ ® o oo
| IS = e || NH
[El © o !y
] ‘ - 100 + Stroke J
Floating bracket mounting thread
(2-M3 x 0.5 thread depth 5)
-2 . 10 - 24 >
2-g5 depth of counter bore 2 ~
. o ~__ Y 2-M5x0.8 il
» ,
CHNE i I | €1 Gy Y, o B ]
o : I A o d A~
= Y Y , 1T ¥ IR
o o N & —
S = — Y \ IR
A A 10 10 1 A
™ L e [ce]
N 15 15| ©
112 |85 - 55 - 85,1 |12
. 110 + Stroke = 2-M5 X 0.8

2-M5x 0.8
(Hexagon socket head plug)

10

(Hexagon socket head plug)



Mechanically Jointed Rodless Cylinder
Basic Type

Series

MY1B

MY1B10G A (with adjusting bolt)

o
5
! / L i —
9 P : )
o 3:: / JA T LY
4 — - y 1 H :
i i ° ’/ @ ; Y
' ' - 1.8
15| (Max. 10)
T / T [ L
[ ) - |;| ™
@ | l/ l/ [ | ' ) g

MY1B10G H (with high load shock absorber + stopper bolt)

5, _(Max. 10)

18

—

28
35

O - ; 150 ; '
/:troke adjusting unit (Shock absorber stroke) 5 | | 40.8 -
—— _/ " Shock absorber
/I <
. Work piece / ™ /(RB0805)
| : / / ¥
T EEsaniiy ; \ I I )
L %E ;/ / 7] |
[ / | 0
- / 4 | g @
o— ' :
- y— ©)
— : Y

154

®SC

-l e 2:8

-t

oIk

135

A

Y
2.8

11

a
N
=
8
o



Series MY1B
Standard Type g16 tO ﬂ40

MY1B | Bore size | Stroke |

) i L -
PA 4-gB depth of counter bore C
- > 4-MM depth M > @LD through hole bottom side J depth K
s
1 v N
-@- A
© o 1
- —8 - : el 32
4 ¢
Y
A
PG | | Q + Stroke .

Floating bracket mounting thread

pC (2-3J thread depth from bottom of counter bore KK)
2-T depth of counter bore E E LW -
il \ Y 2p 1

— H R il $§@T i
— %

to

_ A | Cushion needle GB 2-P
- o - (Hexagon socket head taper plug)

A
Y

-t N -
B Z + Stroke -

Model A B C E G GB H HG J JJ K KK L LD LL LW PG
MY1B16 80 6 3.5 2 9 17 37 135 | M5x0.8 | M4x0.7 | 10 6.5 80 3.5 40 30 35
MY1B20 | 100 7.5 4.5 2 12,5 | 205 46 175 M6 x 1 M4 x0.7 | 12 10 100 4.5 50 37 4.5
MY1B25 | 110 9 5.5 2 16 24.5 54 21 M6 x 1 M5 x 0.8 9.5 9 110 5.6 55 42 7
MY1B32 | 140 | 11 6.5 2 19 30 68 26 M8x1.25| M5x0.8 | 16 10 140 6.8 70 52 8
MY1B40 | 170 | 14 8.5 2 23 36.5 84 335 |[M10x15| M6x1 15 13.0 | 170 8.6 85 64 9

Model M MM N NC NE NG NH NW P PA PB PC PD Q QW T YW Z
MY1B16 6 | M4x0.7| 20 135 | 278 | 135 | 27 37 | M5x0.8 40 20 40 4.5 153 30 7 32 160
MY1B20 8 | M5x08| 25 175 | 34 175 | 335 | 45 | M5x0.8 50 25 50 5 191 36 8 40 200
MY1B25 9 | M5x0.8]| 30 20 40.5 | 28 39 53 Rc 1/8 60 30 55 6 206 42 10 46 220
MY1B32 12 M6 x 1 37 25 50 33 49 64 Rc 1/8 80 35 70 | 10 264 51 10 55 280
MY1B40 12 M6 x 1 45 | 305 | 63 425 | 615 75 Rc 1/4 100 40 85 | 12.0 | 322 59 14 67 340

MY1B16 SMY1B16, #1 (#1 + #7) "P" indicates cylinder supply ports. OThe plug for MY1B16-20-P is a hexagon socket head plug.
MY1B20 SMY1B20, #1 (#1 + #9)
For 225 to 840
MY1B

SMY1B (Boresize), #1 (#1 + #10)

12



Mechanically Jointed Rodless Cylinder H MYlB
Basic Type Se” es
Stroke Adjusting Unit
With adjusting bolt
MY1B |Bore size — Stroke | A
/
_ :3__ — ——
A= /_
7 cc i
Stroke adjusting unit o m
H
For MY1B16 >
E E
ﬁ %]
9
&
Applicable cylinder| E EA EB EC EY FC h 1T Wi (9
MY1B16 14.6 7 34.4 4.2 36.5 — 24 5.4 (max. 11) 43
MY1B20 19 9 43 5.8 45.6 13 3.2 6 (max. 12) 53
MY1B25 20 10 49 6.5 53.5 13 35 5 (max. 16.5) 60
MY1B32 25 12 61 8.5 67 17 4.5 8 (max. 20) 74
MY1B40 31 15 76 9.5 81.5 17 4.5 9 (max. 25) 94
Low load shock absorber + Adjusting bolt T;
MY1B [Bore size — Stroke | L -
A EA
é ry r/ %
P - E—— — -
= 7 /E
(Shock absorber stroke) T FW
Stroke adjusting unit ! FB
Shock absorber FC
-
&1 gz i
mf w E
Applicable cylinder] E EA EB F FB FC FH FW h S T T W___ | Shock absorber model
MY1B20 19 9 43 5.8 45.6 4 — 13 — — 3.2 40.8 6 6 (max. 12) 53 RB0806
MY1B25 20 10 49 6.5 53.5 6 33 13 12 46 B15) 46.7 7 5 (max. 16.5) 60 RB1007
MY1B32 25 12 61 8.5 67 6 43 17 16 56 4.5 67.3 12 8 (max. 20) 74 RB1412
MY1B40 31 15 76 9.5 81.5 6 43 17 16 56 4.5 67.3 12 9 (max. 25) 94
High load shock absorber + Adjusting bolt T
- h
MY1B |Bore size I Stroke | H .
1 EA
s 7
_— L — 1A [a] ;
L w
Stroke adjusting unit (Shock absorber stroke) T | S FW
FB
0 Since dimension EY of the H type unit is [ Shock absorber FC
greater than the table top height (dimen- Work piece / / t
sion H), when mounting a workpiece that [
exceeds the overall length (dimension L) of - |
the slide table, allow a clearance of dimen- >
sion "a" or larger on the work piece side. ¢' > ¢ 8 w E
Applicable cylinder| E EA EB EC EY E FB FC FH FW h S T 1T W __ |Shock absorber model a
MY1B20 20 10 49 6.5 47.5 6 33 13 12 46 3.5 46.7 7 5 (max. 11) 60 RB1007 2.5
MY1B25 20 10 57 8.5 57.5 6 43 17 16 56 4.5 67.3 12 5 (max. 16.5) 70 RB1412 4.5
MY1B32 25 12 74 11.5 73 8 57 22 22 74 5.5 73.2 15 8 (max. 20) 90 RB2015 6
MY1B40 31 15 82 12 87 8 57 22 22 74 515 73.2 15 9 (max. 25) 100 4
- Stroke adjusting unit - Low load shock absorber + Adjusting bolt + High load shock absorber + Adjusting bolt
With adjusting bolt MY1B20 —— SMY1B20, #4 (#1 + #4 + #9) MY1B20 —— SMY1B20, #5 (#1 + #5 + #9)
MY1B16 —— SMY1B16, #3 (#1 + #3 + #7) For 925 to @40 For 925 to @40
MY1B20 — SMY1B20, #3 (#1 + #3 + #9) MY1B —— SMY1B (Bore size), MY1B —— SMY1B (Bore size), #5 (#1 + #5 + #10)
For 225 to @40 #4 (#1 + #4 + #10)
MY1B (Bore size) — SMY1B (Bore size),
#3 (#1 + #3 + #10)

13



Series MY1B
L
Centralized Piping Type gl6 tO ﬂ40

Refer to page 115 regarding centralized piping port variations.
Dimensions for types other than centralized piping and for the stroke
adjusting unit are identical to the standard type dimensions.

Refer to pages 12 and 13 for details regarding dimensions, etc.

MY1B |Bore size | G— Stroke |

9 —
- G —y
op For MY1B16
(Hexagon socket head taper plug)
| 2-P
g & ] g
0 0]
— \q Porotr ot
Ty ] | < Ty
A A
uulTT a ﬁ» Cushion needle ¢G> a TT|{UU
2-P

2-P
(Hexagon socket head taper plug)

(Hexagon socket head taper plug)

A '$' A
/’—
x| = ———1 %
A ks / ! &2 A
§ 2-22 §
ﬂ 2-2Z (Hexagon socket head taper plug) ﬂ

(Hexagon socket head taper plug)

Model G NC P PP QQ RR SS T uu VV WWwW XX Y4
MY1B16G 14 14 M5 x 0.8 7.5 9 11 3 9 10.5 10 7.5 22 M5 x 0.8
MY1B20G 125 175 M5 x 0.8 115 11 145 5 10.5 12 125 10.5 24 M5 x 0.8
MY1B25G 16 20 Rc 1/8 12 16 16 6 145 15 16 12.5 28 Rc 1/16
MY1B32G 19 25 Rc 1/8 17 16 23 4 16 16 19 16 32 Rc 1/16
MY1B40G 23 30.5 Rc 1/4 18.5 24 27 10.5 20 22 23 19.5 36 Rc 1/8

"P" indicates cylinder supply ports. OThe plug for MY1B16/20-P-ZZ is a hexagon socket head plug.

7]
AR
z Y A @
. = Lo 3
— S i
j A Y 20
i -
Bottom side (ZZ) piping
20d /_ o] | Y (applicable O-ring)

. . L. (Machine the mounting side to the
Hole sizes for centralized piping on the bottom dimensions below.)

Model WX Y S d D R Applicable O-ring
MY1B16G 22 6.5 4 4 8.4 1.1 c6
MY1B20G 24 8 6 4 8.4 11
MY1B25G 28 9 7 6 11.4 1.1 co
MY1B32G 32 11 9.5 6 11.4 1.1
MY1B40G 36 14 11.5 8 13.4 1.1 Cl11.2
I MY1B16G —— SMY1B16, #2 (#2 + #7)

H MY1B20G —— SMY1B20, #2 (#2 + #9)
For 225 to 940

e G——SMv18 (Bore ize) — SMYLB (Boresize), #2 (2 + #10)
14



Mechanically Jointed Rodless Cylinder
Basic Type

Standard Type g50 tO ﬂlOO %

Series MY'1B

MY 1B |Bore size I Stroke |

(L) - L > 4-gB depth of counter bore C
- PA 4-MMdepthM LD through hole bottom side J depth K
s
Y y
&3 T A
A
— o + L.
= —¢| . . ——+ v} 33
+ —¢ vy 0
A S
PG_||_ Q + Stroke | §
(%2}
PC Floating bracket mounting thread .‘-1:>
f——— (2-3J thread depth from bottom of counter bore KK) %
1 2-T depth of counter bore E a 1 LW
2 ot \ a B
h Y 2-P
5 1 JECIE: ]
N i o] i
L @Q__ _ i iy | T
Y obQ ol <
Zy 2 I
Yy vy Y Yy 9
Cushion needle G -t
A GB 2.p
- > T\l " (Hexagon socket head taper plug)
» Z + Stroke -
- oA -
[ BE—
PE 8-MM depth M 4-gLD through
— — /I
]
i /-
| : T A
— E o i /g — 2
[ S e 1A + o
( ¢ repl v T I !
\ L
[ i
1
Floating bracket positioning pin hole / Q + Stroke
(2-10H7 depth 10) >
NN
/é A
— M
N A
/ P | Y
Q
/ 12| 2
>
.G, A
- N
Z + Stroke el
For MY1B80, 100
Model A B C E G GB H HG J JJ K KK L LD LL LW | NN YY PG
MY1B 50 200 | 14 8.5 3 235 | 37 94 40 [M12x1.75] M6x 1 25 17 200 9 100 80 — — 8
MY1B 63 230 17 10.5 3 25 39 116 51 | M14x2 |[M8x1.25| 28 24 230 11 115 96 — — 10
MY1B 80 345 | — — — 60 71.5 | 150 66 — — — — 340 14 175 | 112 35 28 15
MY1B100 | 400 | — — — 70 79.5 | 190 85 — — — — 400 18 200 | 140 45 35 20
Model M MM N NC | NE | NG | NH | NW P PA | PB | PC | PD | PE PF Q |QW | T YW z
MY1B 50 14 |[M8x 1.25| 47 38 | 76.5| 51 75| 92 Rc 3/8 120 | 50 | 100 | 85 | — — | 384 76 | 15 92 | 400
MY1B 63 16 |[M8x 1.25| 50 51 |100 59 95 | 112 Rc 3/8 140 | 60 | 115 | 95 | — — | 440 92 | 16 | 112 | 460
MY1B 80 20 |[M10x 15| 85 65 [124 82 | 124 | 140 Rc 1/2 80 | 65 — — | 240 | 22 | 660 90 | — | 140 | 690
MY1B100 25 |M12x1.75] 95 85 |157 103 | 157 | 176 Rc 1/2 120 | 85 — — 1280 | 42 | 760 | 120 | — | 176 | 800

% MY1B — SMY1B (Bore size), #1 (#1 + #6)

0"P" indicates cylinder supply ports.

15



Series MY1B
|
centralized Piping Type @00 10 @100

MY 1B [Bore size| G —|Stroke |

Refer to page 115 regarding centralized piping port variations.
Dimensions for types other than centralized piping are
identical to the standard type dimensions.

Refer to pages 15 for details regarding dimensions etc.

2-P
(Hexagon socket head taper plug)
) 2-P
®_ & o [ & [ o & | &
) O ol uw Gi]
0 Y Y o
Q Y
ot 7 5 . ok
Ty ‘ P 4 Ty @
/
UuITT & EJ Cushion needle S TTUU
[
2-P 2-p
(Hexagon socket head taper plug) ' ; (Hexagon socket head taper plug)
i / / &
« A i ﬁ/ %_ - 1 = i
x y — —_— x '
8 / /[ <
A / / A
§ \AY 2-7Z 2-2Z V| §
> (Hexagon socket head taper plug) (Hexagon socket head taper plug)

Vah\
N\

NC
PP_|QQ

L1

G

- -
~t -

For MY1B80, 100

Model G B NC PP QQ RR SS T uu VA% Ww XX Y4
MY1B 50G 23.5 Rc 3/8 38 24 27 34 10 22.5 23.5 23.5 22.5 47 Rc 1/4
MY1B 63G 25 Rc 3/8 51 37.5 29.5 45.5 13.5 27 29 25 28 56 Rc 1/4
MY1B 80G 60 Rc 1/2 71 53 35 61 15 30 40 60 25 90 Rc 1/2
MY1B100G 70 Rc 1/2 88 69 38 75 20 40 48 70 28 120 Rc 1/2

0"P" indicates cylinder supply ports.

- o 7]
e
T ; < e
\:: |
/! :::1 B . Y <ﬂD=
e /9]
Bottom side (ZZ) piping
2-gd Y (applicable O-ring)

. ) o (Machine the mounting side to
Hole sizes for centralized piping on the bottom the dimensions below.)

Model WX Y S d D R Applicable O-ring
MY1B 50G 47 15.5 14.5 10 175 1.1 c15
MY1B 63G 56 15 18 10 17.5 11
MY1B 80G 90 45 — 18 26 1.8 P22
MY1B100G 120 50 — 18 26 1.8
Bl vvis G ——SMY1B(Bore size), #2 (#2 + #6)

16



|
Side Support

Mechanically Jointed Rodless Cylinder
Basic Type

Series MY'1B

Side support A
L
MY-SCA I < 1 ]
{ ! | 2-9G
I \
( ) —_——
2-gH L w >‘
C A E
P
&
Side support B
VY-SEB % 1 T
( [ | 2-J
I \
( ) — 1
! |
e T ————— HIH HE
L
C A
D
Model Applicable cylinder| A B C D E F G H J
MY-S104 MY1B 10 35 | 43.6| 12 21| 36| 18| 65| 34| M4x0.7
MY-S16% MY1B 16 43 | 53.6] 15 26| 49| 3 65| 34| M4x0.7
MY-S204 MY1B 20 53 | 65.6] 25 38| 64| 4 8 45| M5x0.8
MY1B 25 61 | 75
a A
MY-S25 3 MY1B 32 70 | 8a 35 50| 8 5 95| 55 M6 x 1
MY1B 40 87 105
_ A
MY-S32 3 MY1B 50 113 1131 45 64 [11.7| 6 |11 6.6 | M8x1.25
MY-S508 MY1B 63 136 (158 | 55 80 |148| 85|14 9 M10x 1.5
A MY1B 80 170 |200
MY-S63 3 MY1B100 206 1236 70 | 100 |18.3|10.5|17.5|115 | M12x1.75
[l - Side support A « Side support B

MY-S16A —— SMY1B16, #5 (#1 + #5 + #7)

MY-S16B —— SMY1B16, #6 (#1 + #6 + #7)

CAD MY-S20A —— SMY1B20, #7 (#1 + #7 + #9) MY-S20B —— SMY1B20, #8 (#1 + #8 + #9)
For 225 to 963 For 225 to 963
MY-S (Bore size) A — SMY1B (Bore size), MY-S B——SMY1B (Boressize),
. . . #8 (#1 + #8 + #10) #9 (#1 + #9 + #10)
Guide for Using Side Supports
m
For long stroke operation, the cylinder tube may L4 kg 200
be deflected depending on its own weight and m—ll—‘
the load weight. In such a case, use a side sup- 7 190
port in the middle section. The spacing (I) of the I 180
support must be no more than the values 170
shown in the graph on the right. 160
/ (4000)
150
¥ 140 \
m 130
| (3200) \
A\ Caution = .
m £ 110 Z
1. If the cylinder mounting surfaces are not ;‘ -% 100 \ \ﬁ
measured accurately, using a side support |—i . i—| = \ \?j
may cause poor operation. Therefore, be 7 90 (2700) \; \%
sure to level the cylinder tube when mount- | | 80 \ S
ing. Also, for long stroke operation involving 70 (2100) \ \<§) \
vibration and impact, use of a side support 60 \ \é \O \
is recommended even if the spacing value (1800) \é % \ \
RS . . Yy Z
is within the allowable limits shown in the 50 \ \‘6 A \
graph. 0 (1500) 2 \G&
2. Support brackets are not for mounting; use ‘}\ \ \
them solely for providing support. \ \
NEANIEN
NN NN\
1000 2000 3000 4000 5000
Support spacing | mm

17



Series MY1B

|

Floating Bracket

Facilitates connection to other guide systems.

Applicable bore size
210
Application example

Applicable bore size

Application example

Mounting example

Work piece
. —
W
[ L L ]
19
LA,
Guide Series MY1B Floating bracket

Mounting example

30
20

Za

PN B
hd b / j
]| = o ‘
) 3|3
Section Za detail (3/1)
= u,; '¢' Adjustable range
M4x07  Zb .
,,,,,,,,, —

2 X 2—96.5

18

Section Zb detail (3/1)
Adjustable range

G
‘ D Za
_ S— ()]
e —— o
i
© 4 < = || . y
: : =QG RN/ -]
,,,,,,,, L
4 4 K
To———9— —— 1
Section Za detail
O (adjustable range)
JJ Zb
x| [ i I
F J—LL b § |"1| Ty I 7L
< I—
- 2x2-5LD F
[hi
Section Zb detail
(adjustable range)
Applicable
Model &ylinder A B C D F G H
MY-J16 | MY1B1601| 45 45 22.5 30 52 38 18
MY-J20 | MY1B201 | 55 52 26 35 59 50 21
Applicable
Model cylinder JJ K P Q Es | E« | LD
MY-J16 | MY1B16[1| M4 x 0.7 | 10 4 7 3.5 1 1 6
MY-J20| MY1B20] | M4 x 0.7 | 10 4 7 |35 1 1 6

Installation of holding bolts

, Conical
Slider Pin spring washer Holding bolt
(piston yoke) / \
‘k H H:)
Holding bolt tightening torque Unit: NIfh
Tightening Tightening Tightening
Model torque platz torque Model torque

MY-J10 0.6 MY-J25 3 MY-J50 5
MY-J16 1.5 MY-J32 5 MY-J63 13
MY-J20 15 MY-J40 5




Mechanically Jointed Rodless Cylinder
Basic Type

Series MY'1B

Applicable bore size

225, @ 32, 340

Application example

Applicable bore size

Application example

Mounting example

Work piece

Series MY1B

Floating bracket

Work piece E
o+ >
% S
0
2
[ ] o)
oo | og T, °
] g !
Guide Series MY1B /S<Floating bracket

Mounting example

One set of brackets can be mounted in two directions for compact combinations.

G
‘ D Za
- - Y
4-gMM ‘
-$- i -$- E1 E1 %) & & i
LiJ\‘ ,,,,,,, Yy
| | N . - w - L
‘ IR oY P+
| | | i = = T A | s S | (R W A A A
ofo| SR+ & W M S a
| | . .
i [ ‘ [ Section Z detail THe=——-8 " 1 Section Za detail
I ® ‘ ° | & (adjustable range) alo (adjustable range)
! ‘ E JJ Zb
Bs
L B2
Z B+ | || | Tt -
F o—
N\ B C1 < _. 772247,
\ >_ Y 2x2-sLD <
e il w
‘ 1
I‘ T Section Zb detail
(adjustable range)
< Holding bolt @ @ <
) ) Model | “BN2® | A | B | c | D | F |G | H
C Mounting direction 1 % Mounting direction 2 MY-J50| MY1B500 | 110 | 110 55 70 126 90 37
2 MY-J63| MY1B630| 131 | 130 | 65 | 80 | 149 | 100 | 37
S— Model | ADRieeb® | 33 | K | L | P | Q| Es|Es|LD
Model | Applicable Common Mounting direction 1 MY1B500] |M8 to 1.25 75|16 | 8 | 25|25 | 11
linder 1 DG H|J MMLALBL]C|F TATY MY1B630] MlOci 15 % 95| 19 | 95] 25 2
MY-J25 | MY1B250] | 40 | 60 | 3.2 | 35 |55 | 63 | 78| 39 | 100 L Do L = S]25]25] 14
MY-J32 | MY1B32[J | 55 | 80 | 45| 40 |65 | 76 | 94| 47 | 124 Bl viv-5 (Bore size) —— smy1B (Bore size), #3 (#1 + #3 + #6)
MY-J40 | MY1B400 | 74 |100 | 45 | 47 | 6.5 | 92 | 112 56 | 144
Model | Applicable Mounting direction 2 Adjustable range
cylinder A B1 B2 Bs | Cq C2 F = E2
MY-J25 | MY1B2501| 65 | 28 | 53 | 78|14 | 39 | 96] 1 | 1
MY-J32 | MY1B3200| 82 | 40 | 64 | 88|20 | 44 |111| 1 | 1
MY-J40 | MY1B4001| 98 | 44 | 76 [108 | 22 | 54 |131] 1 | 1

Note) One set of floating brackets consists of one right piece and one left piece.

For 225 to 240
Mounting direction 1

MY-J (Bore size )| —SMY1B , #6 (#1 + #6 + #10)

Mounting direction 2

MY-J (Bore size )| —SMY1B | #7 (#1 + #7 + #10)

MY-J16 ——SMY1BL16, #4 (#1 + #4 + #7)
MY-J20 ——SMY1B20, #6 (#1 + #6 + #9)

3 <[ T i 3
! I b § gy T u.li

19



Series MY1B

Floating Bracket

Facilitates connection to other guide systems.

Applicable bore size

Application example

Support bracket Work piece
W
AN J/% /N
Wz, /’é] . \#’7// Bracket

|

Guide /' —— - - -
Slider
(piston yoke)

Mounting example

Support bracket mounting area
is heat treated at HRC40 or above.

]
o)
=)
c
>
S| Bracket
=
3 1
| 2 | /
= A Y |
1 T I |
o | 0.3
/ *E @ Do \
=S
I .| e i
! ks A % H
| E 7 } \
s
2
o 20:8&
£
8 150
c| [l
Floating bracket
positioning pin Bracket mounting hole (280)
(210 x 18L) Hexagon socket head cap screw

(M10 x 1.5 x 40L)
Bracket mounting hole (2100)

Hexagon socket head cap screw
(M12 x 1.75 x 40L)

Support bracket

31
18

—
A8

Hexagon socket head
cap screw tightening

torque Unit: NFa
Model | “EMeSe® | A |B(max) C(min)  Model |G
MY-J 80 | MY1B 800 | 181 | 15 9 My 80| 25
MY-J100 | MY1B1000) | 221 | 15 9 MyJi00| 44

Note) « Flat bar or round bar mounting are possible for the support bracket (slanted lines)

20

mounted by the customer.

« The floating bracket is packaged with (4) hexagon socket head cap screws and (2)
parallel pins at the time of shipment.

«"B" and "C" indicate the allowable mounting dimensions for the support bracket (flat bar
or round bar).

« Consider support brackets with dimensions that allow the floating mechanism to
function properly.

Floating bracket operating precautions

/\ Caution

Make sure that the amount of divergence from the external guide is
within the adjustable range.

Using the floating bracket facilitates connection to an external guide.
However, with a rod type guide, etc., the amount of displacement is large
and the floating bracket may not be able to absorb the variation. Check the
amount of displacement and mount the floating bracket within the
adjustable range.

When the displacement amount exceeds the adjustable range, use a
separate floating mechanism.



Construction/ ﬂlO

Mechanically Jointed Rodless Cylinder
Basic Type

Series MY'1B

Centralized piping type/MY1B10G

@ @® ® © ®

@ @ @

® @ @ ® & O

——

—_——

qun

30

/mf// E

Series MY1B

&
Parts list Parts list

No. Description Material Note No. Description Material Note

1 Cylinder tube Aluminum alloy Hard anodized 15 | Beltclamp Special resin

2 Head cover WR Aluminum alloy Hard anodized 20 | Bearing Special resin

3 Head cover WL Aluminum alloy Hard anodized 21 | Spacer Chrome molybdenum steel Nickel plated
4 Piston yoke Aluminum alloy Hard anodized 22 | Spring pin Stainless steel

5 Piston Aluminum alloy Chromated 23 | Hexagon socket head cap screw | Chrome molybdenum steel Nickel plated
6 End cover Special resin 24 | Round head Phillips screw Carbon steel Nickel plated
7 Wear ring Special resin 25 | Hexagon socket head set screw Carbon steel Black zinc chromated
8 Bumper Polyurethane rubber 26 | Hexagon socket head plug Carbon steel Nickel plated
9 Holder Stainless steel 27 | Magnet Rare earth magnet

10 | Stopper Carbon steel Nickel plated 28 | Top plate Stainless steel

11 | Belt separator Special resin 29 | Head plate Stainless steel

12 | Seal magnet Rubber magnet 30 | Felt Felt

Seal list

No. Description Material Qty. MY1B10

13 | Seal belt Special resin 1 MY10-16A-stroke

14 | Dust seal band Stainless steel 1 MY10-16B-stroke

16 | Scraper NBR 2 MYB10-15AR0597

17 | Piston seal NBR 2 GMY10

18 | Tube gasket NBR 2 P7

19 | O-ring NBR 4 |95.33 x23.05x 91.14

21



Series MY 1B
Construction/ﬂ16 tO ﬂlOO

Standard type

Centralized piping type

~
= 1
Parts list Parts list
No. Description Material Note No. Description Material Note
1 Cylinder tube Aluminum alloy Hard anodized 20 | Type E retaining ring Cold rolled special steel strip
2 Head cover R Aluminum alloy Hard anodized 21 | Hexagon socket head cap screw | Chrome molybdenum steel Nickel plated
2A | Head cover WR Aluminum alloy Hard anodized 22 | Hexagon socket head button bolt | Chrome molybdenum steel Nickel plated
3 Head cover L Aluminum alloy Hard anodized 23 | Hexagon socket head set screw | Chrome molybdenum steel |Black zinc chromated/Nicke! plated
3A | Head cover WL Aluminum alloy Hard anodized 24 | Double round parallel key Carbon steel (216 to 240)
4 Piston yoke Aluminum alloy Hard anodized 25 | Hexagon socket head taper plug Carbon steel Nickel plated
5 Piston Aluminum alloy Chromated 26 | Magnet Rare earth magnet
6 End cover Special resin 27 | Side scraper Special resin (Except 216)
Carbon steel Nickel plated (280 and #100) 28 | Top cover Stainless steel
7 Wear ring Special resin 29 | Hexagon socket head taper plug Carbon steel Nickel plated
8 Cushion ring Brass 36 | Head plate Aluminum alloy Hard anodized (263 to 100)
9 Cushion needle Rolled steel Nickel plated 37 | Backup plate Special resin
10 | Stopper Carbon steel Nickel plated (216 to g40) 38 | Guideroller B Special resin (280 and 2100)
11 | Belt separator Special resin 39 | Guideroller A Stainless steel (280 and 2100)
12 | Guide roller Special resin 40 | Guide roller shaft B Stainless steel (280 and 2100)
13 | Guideroller shaft | Stainless steel 41 | Side cover Aluminum alloy Hard anodized (280 and 9100)
16 | Belt clamp Special resin 42 | Type CRretaining ring Spring steel (280 and 2100)
Aluminum alloy | Chromated (280 and 2100) 43 | Hexagon socket head button bolt | Chrome molybdenum steel | Nickel plated (280 and 100)
17 | Bearing Special resin 44 | Hexagon socket head button bolt | Chrome molybdenum steel | Nickel plated (280 and 100)
18 | Spacer Stainless steel 45 | Spacer B Stainless steel (280 and 2100)
19 | Spring pin Carbon tool steel | Black zinc chromated 46 | Seal magnet Rubber magnet (280 and 2100)
Seal list
No. Description | Material |Qty.| MY1B16 MY1B20 MY1B25 MY1B32 MY1B40 MY1B50 MY1B63 MY1B80 MY1B100
14 |seal belt Special 1 | MY16-16A- MY20-16A- MY25-16A- MY32-16A- MY40-16A- MY50-16A- MY63-16A- MY80-16A- MY100-16A-
resin Stroke Stroke Stroke Stroke Stroke Stroke Stroke Stroke Stroke
1%»!9) Dust seal band | Stainless| 1 | MY16-16B- MY20-16B- MY25-16B- MY32-16B- MY40-16B- MY50-16B- MY63-16B- MY80-16B- MY100-16B-
steel Stroke Stroke Stroke Stroke Stroke Stroke Stroke Stroke Stroke
30 |Scraper NBR 2 |MYB16-15AA7163 | MYB20-15AA7164 | MYB25-15AA5900 | MYB32-15AA5901 | MYB40-15AA5902 | MYB50-15AA7165 | MYB63-15AA7166 | MYBBO-15AK2470 | MYB100-15AK2471
31 |Piston seal NBR 2 GMY16 GMY20 GMY25 GMY32 GMY40 GMY50 GMY63 GMY80 GMY100
32 |Cushion seal NBR | 2 |MYB16-15-A7163|MYB20-15-A7164 RCS-8 RCS-10 RCS-12 MC-16 MC-20 MC-25 MC-30
33 |Tube gasket NBR 2 P12 P16 TMY-25 TMY-32 TMY-40 P44 P53 P70 P90
34 |O-ring NBR 2 |p4x21.8x01.1(@5.1x@3x01.05|07.15x083.75x01.7|07.15%03.75x 91.7|98.3 X 24.5 X 81.9|98.3 X #4.5 X g1.9 C-4 C-6 C-6
35 |O-ring NBR 2 |g6.2x83x01.6| 07x04x015 P-5 P-6 C-9 C-12.5 C-14 P22 P24

22

Note) Two types of dust seal band are available. Verify the type to use, since the part number varies depending on the treatment of the hexagon socket head set screw 3.
(A) Black zinc chromated — MYC(J-16B-Stroke (B) Nickel plated — MYCIJ-16BW-Stroke





